ALFA ROMEO CHALLENGE 2025 + ABARTH CHALLENGE 2025 KANSAI & KYUSYU Rd.3
ETCC2025 Vol.8 Okayama

Race—-ABC
9 S RABBEIEE (REBO-RBEQ)
2025. 06. 08 fE LI ERS 5 — v 3. 703km
3 BE ES4 /13— ETI X3 ® @ #HAE (O] Qlig_&&tIBER A
1 25 F% EX Mclaren 7508 IMPERIAL NAKANO 6+6 = 12 1x08 +1=1.8
2 15 A —= Lamborghini %74 STO AN YT R 6+6 = 12 3x08 +2=414
3 22 ES - Ferrari 812 AN TN 6+6 = 12 4x08 +3=62
4 16 BA AT Porsche GT2 AN YT 5+5 = 10 5x08 +4=80
5 1 FHE LF Mclaren 675LT MP3435-Lb> 6+0 = 6 2x0.8 +-=-
3 BE ES4 /13— ETIL X3 D @ #HAE (O] Qlig_&&tIBER A
1 37 ETITR Audi R8 %) EUROStage8 51 6+6 = 12 1x08 +1=1.8
2 17 | Porsche #L3 AN TN FME 6+6 = 12 2x0.8 +2=36
3 BE ES4 /13— ETI X3 ® @ #HAE (O] Qlig_&&tIBER A
1 28 KB BMW E36 M3 AU YT A-ME b6 6+6 = 12 1x08 +1=1.8
2 26 hE BE BMW Z4 M40i AU YT 6+6 = 12 2x08 +2=36
53 HE ES4 /13— ETIL X3 D @ #HEE (O] Qlg_&EtIER A
1 51 EH &K Audi RS3 SB #)EUROStage3 S 6+6 = 12 1x08 +1=18
2 52 5% fE— Vi yRya #)EUROStage 2544 6+6 = 12 2x08 +2=36
53 HE ES4 /13— ETIL X3 D @ #HEE (O] Qlg_&EtIBER A
1 35 TR £ Audi TT #)EUROStaged St 6+6 = 12 1x08 +1=18
2 51 28 B Audi TTS Eternal-15# 6+0 = 6 2 x0.8 +-=-
53 =E ES4 /13— ETIL X3 D @ #HEE (O] QlE_&EHIER A
1 41 B Fnsh ABARTH 500 7" F9IN MR =K TN b 6+6 = 12 2x08 +1=26
2 610 HE —& ABARTH 500 Y415-3 6+6 = 12 3x0.8 +2=414
3 2 i Ex ABARTH 595 Itk 6+6 = 12 1x08 +4=48
4 50 R WME ABARTH 500esseesse TN FUIvbyt 6+6 = 12 4x0.8 +3=6.2
5 405 fEE skt ABARTH 500 4+0 = 4 5x0.8 +-=-
8 BH X ABARTH 595 EIKOH ABARTH 0+0 = 0 -x0.8 +-=-
AB150-1
[0 EX] ES 43— ETIL X3 D @ #BEARE (O] QIE_&&TIEE =
1 12 R RRX ABARTH 695 E'#" Ak TN AMyEY 6+6 = 12 1x08 +1=1.8
2 18 AXH Al ABARTH 595 avA° WA 6+6 = 12 3x0.8 +2=414
3 4 XH* EF ABARTH 695 WEWASE 6+6 = 12 2x08 +3=46
[0 EX] ES 43— ETIL X3 D @ #BEARE (O] QIE_&&TIEE =
1 30 PNl s Renault ##"-33 RS #h°-33RS 6+6 = 12 1x08 +1=1.38
[0 EX] ES 43— ETIL X3 D @ #BEARE (O] QIE_&&TIEE =
1 58 £IE BA ABARTH 595 avA" schwarz. DNP595 6+6 = 12 2x08 +1=26
2 31 FI Es Renault 4-77 A=9" W& -YRS A7 4~ 6+6 = 12 3x08 +2=44
3 63 e & BMW MINI R56 AbeADiz@t va A -y 6+2 = 8 1x08 +3=-
[0 EX] ES 43— ETIL X3 D @ #BEARE (O] QIE_&ETIEE =
1 16 E2 K& 156TS #8)11¥-5-2Bar Adomo 6+6 = 12 1x0.8 +1=1.8
2 67 SH HA 147TS-sele SpR-NAUTO147 > 6+6 = 12 2x08 +2=36
[0 EX] ES4 /83— ETIL EX D @ #BEE [O)] QIE_&ETIEL &
1 38 AKX RiE ThE =X A110 GT %) EUROStage9d 54 6+6 = 12 1x08 +1=1.38
[0 EX] ES4 /83— ETIL EX D @ #BEE [O)] QIE_&ETIEL &
1 10 ESZ % S Porsche GT4 AN VIV R 6+6 = 12 1x08 +1=1.8
23 KE W Porsche GT4 AN YT 0+0 = 0 -x0.8 +-=-
[0 EX] ES4 /83— ETIL EX D @ #BEE [O)] QIE_&ETIEL &
1 62 AL & Porsche 987 & Wy1987443y 5+5 = 10 1x08 +1=1.8
[0 EX] ES 43— ETIL EX D @ #BEE [O)] QIE_&ETIEL &
1 36 L Bx VW =bb %) EUROStage6 S+ 5+5 = 10 1x08 +1=1.8
AR150-9
53 BE ES 43— ETIL X D @ #BEE [O)[] QIE_&ETIEL &
20 EH AE Spider JTS SPIDER JTS-R 0+0 = 0 -x08 +-=-



